EARAROBEEIERT — 2 N— IBISH —F

20141830 (&) 22EEME2H

m%&%% EE1 ¥5R4®L (xwlw | mEmml - |5 ) won s
[x&<£] 1 % :3,500,000 @ ~ 23 :700,000 @ ~ 337 :350,000 M ~ 4 3&:210,000 M ~ 5 7 :140,000 M
B BB RESB MK HE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
117l gl=71=50 H 6 15|7IJ§IE— 2:02.7 11-12-9-6 |37.8| — | 5 | 4% ggg% (B )
LA—GAHATT BRU—Fhy b = S SR
2lglio| TVET LY %8 | KBAR s 4532 |39.0 — | 3 | s07 gﬁg ()
LTIk BiTIH ) | Ioenvzoasr
§ - N SEIAE . - _
sl7liol 173y 70y 410 g’:;%n 2.(0233.1 1-1-1-1 | 40.0 6 ;1_714) :}I}ﬁﬁg (Gl
QFATLFARTF— BTU—A T fE%S
algliy| yw=aws b o7 ’srg*géw‘ﬂ 2(;1?:) 7-6-6-4 |38.9| — 10 | 500 ﬁigﬁ ()
QAL - BTFARLLSY 2 | ggmagg
5 3 ATEYHLF— 4 6 ;E’rgﬁz 2:83).4 4-4-5-3 | 39.3| — 1 491 Ems‘gﬁ (Em)
RZNAF 21— B:JL—X7> (-5) 1AM
6 g | N N=TH 0T o7 ség*g’éi 2:(023).7 3-3-4-7 |40.1| — 4 | 474 ;Egi (Gicli)
LRTE BTITLUY—h 0| Remais
7 AR AN 41 ggﬁzéﬂ 2(70?:? 10-9-8-8 [39.1| — 7 509 igﬁ(é ()
QATITL BiIOYRE— REE T
glsls| T—v>ouT— #H o4 gl;_q;?‘ (21:014/.8 8-7-7-10 |39.5| — | 2 | 487 Eﬁ;; (E::)
LTAVL BT Bikrs oA )| segas
9 S aBsvIhE 6 15557%% 2(704t; 9-9-10-11 | 39.4 | — 9 | 570 ﬁi‘gg (Em®)
LI NyELHTL BEAI YT AT 0| 7 kasg
1ol5]6| TRE=> AN (0 1223 e 2025 |40.9| — | 8 (4927) i)
LZRXH=woAR B:FTI-RI— e EE 45035
iHl 2 IR 6 | FREE 2044 | 601212 | 07|~ | 12 (4;373) AR5 ()
L:F—TRTPN—F B:g2—TF—2v> ity e)
o1l ~31 # 5 | EEX 2(:30/:2.)6 12-11-11-9 [ 30.7 | — | 11 ;1;2) %b]i;l;izé Gi)
R:Za—-A4>952K B:I757>Ya 1R BT
@ 11— S —EBIEf
1 3=7r= 10,6,8,(3,12),2,11,5,7,4,9,1
2al=3F= 10,6,8,3,12,11,5,2,(4,7) ,1,9
§a=3r= 10,6,12,8,3,11,5,4,9,7,1,2
40—F— 10,12,3,11,6,9,8,4,1,5,7,2
[ 7N
-y 9 1,890 74K 9-12 1,930 & 7-8 1,570M &8 9-10-12 14,610
7 B 9 360 9-10 2,700 5 & 9-12 2,060 e 9-12-10 131,980
12 230 10-12 1,400H B H# 9-12 13,1708
10 610M

ABICOVWTRDTEEERROODE. TR LIV,




